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2.2 Add and Subtract Polynomials

1. Vocabulary

a) Term: an expression formed by the product of a number and/or
variable. Consten)

—

ex: b5x, 7x2y3z, 8, X

5x

b) Polynomial: an algebraic expression consisting of one or more
terms. Terms are separated by additions or subtractions.

A term with
no variable
is called a

constant.

ex: 5x2{ 1 term: monomial
2x - 1 2 terms: binomial
4~>_<_247-\7x ;8~ 3 terms: trinomial

Anything larger can just be called a polynomial
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Quiz yourself!

Q1 The result of (3x + 4x) is 7x2.

T/F FALSE (=7x) 7

Q2 Using tiles, you can remove two zero pairs to simplify 3x + (-2x).

T/F TRUE o/

Q3 Like terms have the same variable and the same exponent.
T/F TRUE ./

Q4 4x-5+(-2x) — 3 simplifies to 2x — 2.

q - - - ~
= dx -8
Q5 A polynomial with one termisa _ IM\GNno \q\

T/F

A polynomial with two terms is a 19‘\ A4

A polynomial with three terms is a ‘}\f‘\ NON \a\
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Recall: Like terms have the same variable(s) with the same exponent.

To simplify polynomials, combine like terms by adding or subtracting
their coefficients. The variable and its exponent stays the same.

Ex.1: Simplify
a) 2X+ 6y- 8 + ¥~ 6y -3
= 2.
R /)(+l0€ Qy -% - %
=3x -\

b) 6x3+ (-2) - (-3x) - 32+ x + 43 + 6 g‘m@\\% <) ms)
= ézg—ﬁ +3’)(~g'>(l*y+u’y3‘__ti 3 |

RS IV
=10y 3

G e G g
- B’X? _}_1_*7( N L_f

C) -a?+ abr- b?- 2% + ab? - 447 + Sab
:‘Q}/‘% ~K* - %?4@%+y)o +o\\o
= -Sa?-23)2 +bak 4+ gl 2

. Ex. 2 Simplify.

ddlng a bracket means that you are
dlng each term inside the bracket

= 5% -2 44y L
e i 2 ?ézi}f )
=2

a) |¢(§)—(\3) +;(4x+ 6)

b)\(3m2 8m +2) +|(5m 1+2m? c)l(5x2+ 3xy - 2y?) +|(3x2 7xy - y?)
B i TG RSP e -S»/ug/ya}j £ 370 -y y
- Sm? -3m + l - 8//\’2“4’1@ *382
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! N Shbtl act a“ exnl"DCCinh ih hrnrl{afc romn\/o
\J HI\.JJIUII 11 UIUUI\\—LJ, [ A I AW "
the brackets and su

ubtract each term.

Ex. 3 Simplify.

a) (3x-7) Z(7x+2) b) (5x2+ 8x - 2) @?
=53 -F5 -2 =SA? 8y — 2+ 3
= _.q/)(__? —

AL
- 7\/7}%7“ |
c) (4x2-x+7) -@)(2\-8x+5)
- L(’X?“’Y*?*&’)(?qh?y’g
IR P

Ex. 7 Simplify, THEN evaluate when m= -2
(m-3)+(6-5m+m2mmn§g—m\z-l)

=00 -E M- Sned 2 - e A — b T
T JU B A N Uy =246 =)+
= ~Jmt —Bm + 3

Sob p=-2
=2(3) -8(2)+ 3

=3(4) +1b+ 3

A% +19

- -9

V)

N
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do+3 Perimelar = sidel v ide 24
o o Prdeorde o duize o
—CLab T

QL\)+3

b) If the width of the dock is 4 m, find the perimeter of the dock.

o=y
P = (o(,yrb
g\)!) =4

P =6(a)+b
=20

Ex. 5 Colin added a monomial, a binomial and a trinomial. The result was a
binomial. What could the three polynomials he added together he?

- If a monomial and binemial do not have any like terms,
how many terms will be in their sum?

/o ) [~ | _ ) S )
(%) (2xs Dy ax - 1= 5b)
N - | ‘ el /'/hax_ﬂ idi ions:
B K ) C( L Guiding Questions:
o 'I\'L‘C""E’ 5 0 : « If @ monomial and binomial have like terms, how many
. '_\\ Can( e L terms will be in their sum?
- Sx - 2P

- How can the sum of a binomial and a trinomial produce a
binomial?

Ex. 6 Determine the missing numbers to make the following true:

g -\
(3x2+ = x=7) + (4 + (-3x) +{ ") = ixz +2x-9



